C What am | ? )

Find the missing numbers and use the letters to answer
the riddle.

120 + (20] =140 C

220+D=27o N

190+D=200 X

260 « [ ]=300 E 850 + [ |=1875 O

720+[:=800 \Y 250+[:=320 K

370+[:=4oo R 225+[:=300 P

101+D=200 L 250+D=310 A

Which plane always flies in the wrong direction ?

60 50 40 30 30 25 30 75 99 60 50 40
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C What am | ? )

Find the missing numbers and use the letters to answer
the riddle.

120 + (20] =140 C |

220 + (50) =270 N

190 + (10) =200 X

260 + (40) =300 E | 850 +(25] =875 O

720 + (80) = 800 V 250 + (70) =320 K

370 + (30) =400 R | 225 +(75)=300 P

101 +(99) =200 L 250 + (60] =310 A

Which plane always flies in the wrong direction ?

60 50 40 30 30 25 30 75 99 60 50 40
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